Math 185

Practice Test #1 – Chapter 7

1. Suppose that f is one-to-one, f(5) = 3, and f ‘(5) = - 7 . Find f –1(3) and (f –1)’(3).
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4. Find the inverse function of 
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5. Differentiate.
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6. Find an equation of the tangent to the curve at the given point
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7. At what point on the curve 
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8. Find an equation of the tangent to the curve 
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9. Evaluate the limit.
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10. Evaluate the integral.
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11. Find the area of the region bounded by the curves
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12. Find the volume of the solid obtained by rotating about the y-axis the region under the curve 
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6.  a. y = 2x +ln2; b. y = 2x – e; 7. (-3, 0); 8. 
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9.  a. 0; b. 0; c. –1, d. e3; e. (; f. (; g. 0; h.
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	Practice Test #2 – Chapter 8

Evaluate the Integrals
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	Evaluate the integral or show that is divergent.
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Use the (a) Trapezoidal Rule, (b) the Midpoint Rule, and (c) Simpson’s Rule with n = 10 to approximate the given integral. Round your answers to six decimal places
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	Estimate the errors involved in exercises 34. and 35., part (a) and (b). How large should n be in each case to guarantee an error of less than 0.00001?

35. Use Simpson’s Rule with n = 6 to estimate the area under the curve 
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36. Use the Comparison Theorem to determine whether the integral
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37. Find the area of the region bounded by the hyperbola 
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38. The region under the curve 
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Practice Test #3

Solve the differential equation

1. 
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Solve the initial-value problem

3. 
[image: image114.wmf]1

)

0

(

,

'

2

=

=

y

xe

yy

x

 

4. 
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5. 

a. The population of the world was 4.45 billion in 1980 and 5.30 billion in 1990. Find an exponential model for these data and use the model to predict the world population in the year 2020.

b. According to the model in part a, when will the world population exceed 10 billion?

6. A tank contains 100 L of pure water. Brine that contains 0.1 kg of salt per liter enters the tank at a rate of 10 L/min. The solution is kept thoroughly mixed and drains from the tank at the same rate. How much salt is in the tank after 6 minutes?

Sketch the parametric curve and eliminate the parameter to find the Cartesian equation of the curve.
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Determine the parameter interval to make sure that you produce the entire curve and then sketch the polar curve.
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Find the slope of the tangent line to the given curve at the point corresponding to the specific value of the parameter.
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19. Given that 
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20. Find the area enclosed by the inner loop of the curve 
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21. Find the points of intersection of the curves 
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22. Find the area of the region that lies inside the curve 
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Find the length of the curve.
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Find the area of the surface obtained by rotating the given curve about the x-axis.
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Find the foci and vertices and sketch the graph. (41-44)
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30. Find an equation of the parabola with focus (0, 6) and directrix y = 2.

31. Find an equation of the hyperbola with foci (0, (5) and vertices (0, (2).

32. Find an equation of the hyperbola with foci ((3, 0) and asymptotes 2y = (x.

33. Find an equation of the ellipse with foci (3, (2) and major axis with length 8.
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	Math 185

Practice Test – Chapter 12

1. Determine whether the sequence is convergent or divergent. If it is convergent, find the limit.
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2. Find the sum of the series
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3. Determine whether the series is convergent or divergent
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	4. Determine whether the series is conditionally convergent, absolutely convergent, or divergent
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5. Find the sum of the series correct to five decimal places
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6. Find the radius of convergent and interval of convergent of the series
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7. Find the Maclaurin series for f and its radius of convergence
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	8. Evaluate 
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Approximate value 
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